5. Prueba las siguientes identidades para un angulo agudo «a:
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3. Supén que sena = 8/17. Calcula el valor de cos o, tan @ y cot .
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4. Supon que tan o = m. Expresa en términos de m el valor de cosa, sen «
vy cot a.
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6. Si tana = 2/5, calcula el valor de
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a) Haz una tabla (usando tu teléfono o calculadora) para cada o =

0°,10°, 20°,...,90°, con los niimeros cosa + sen . También calcula

cos 43° -} sen 45°.
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2. Using your calculator, find

a) arcsin l.
b) arccos 0.7071067811865.
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1. Find the legs of a right tnangle with hypotenuse 9 and an acute angle
of 72 degrees.




2. The two legs of a right triangle are 7 and 10. Find the hypotenuse
and the two acute angles.
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3. Arighttriangle has a leg of length 12. If the acute angle opposite this
leg measures 27 degrees, find the other leg, the other acute angle, and
the hypotenuse.
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4. A right triangle has a leg of length 20. If the acute angle adjacent
to this leg measures 73 degrees, find the other leg, the other acute
angle, and the hypotenuse.
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